

$$\left\{ \begin{aligned} \frac{dx_1}{ds} &= \frac{dx_1}{ds} - \frac{x_1}{s_1} \\ \frac{dx_2}{ds} &= \frac{dx_2}{ds} - \frac{x_2}{s_2} \\ \frac{dx_3}{ds} &= \frac{dx_3}{ds} - \frac{x_3}{s_3} \\ &\dots \\ \frac{dx_n}{ds} &= \frac{dx_n}{ds} + \frac{x_1}{s_1} + \frac{x_2}{s_2} + \dots + \frac{x_{n-1}}{s_{n-1}} \end{aligned} \right.$$

$$\log G^{b-a} = \int_a^b \left[\log C + \frac{x}{b-a} \log \frac{b}{a} \right] dx$$

$$\log G^{b-a} = \log C \cdot (b-a) + \frac{\log \frac{b}{a}}{b-a} \cdot \frac{b+a}{2}$$

A] $y=x$. $A = \frac{1}{b-a} \int_a^b x dx = \frac{b+a}{2}$

$\overline{AA}(a,b) = \frac{a+b}{2}$
 $\overline{GA}(a,b) = \frac{1}{e} \cdot \left(\frac{b}{a}\right)^{\frac{1}{b-a}}$
 $\overline{HA}(a,b) = \frac{b-a}{\log \frac{b}{a}}$

$\log G = \frac{1}{b-a} \int_a^b \log x \cdot dx$
 $\log G^{b-a} = \log \frac{a^b}{b^a} + \log \left(\frac{b}{a}\right)^{\frac{a+b}{2}}$
 $G^{b-a} = \frac{a^{\frac{b-a}{2}} b^{\frac{b-a}{2}}}{\frac{b^a}{a^a}}$

$H = \frac{b-a}{\int_a^b \frac{dx}{x}} = \frac{b-a}{\log \frac{b}{a}}$
 $\log G = \frac{b \log b - a \log a - \frac{b-a}{2}}{b-a}$

$y = f(mx+n)$

G] $y = a^{\frac{b-x}{b-a}} b^{\frac{x-a}{b-a}} = C \left(\frac{b}{a}\right)^{\frac{x}{b-a}}$
 $C = \left(\frac{a^b}{b^a}\right)^{\frac{1}{b-a}}$

$A = \frac{C}{b-a} \int_a^b \left(\frac{b}{a}\right)^{\frac{x}{b-a}} dx$
 $A = \frac{\left(\frac{b}{a}\right)^b - \left(\frac{b}{a}\right)^a}{(b-a) \log \frac{b}{a}} \cdot C$
 $A = \frac{b^{\frac{b}{b-a}} a^{\frac{a}{b-a}} - b^{\frac{a}{b-a}} a^{\frac{b}{b-a}}}{(b-a) \log \frac{b}{a}} \cdot \frac{a^{\frac{b}{b-a}}}{b^{\frac{a}{b-a}}}$
 $A = \frac{b^{\frac{b}{b-a}} a^{\frac{a}{b-a}}}{(b-a) \log \frac{b}{a}} \cdot \frac{b^{\frac{a}{b-a}}}{a^{\frac{b}{b-a}}}$
 $A = \frac{b^{\frac{b}{b-a}} a^{\frac{a}{b-a}}}{(b-a) \log \frac{b}{a}} \cdot \frac{b^{\frac{a}{b-a}}}{a^{\frac{b}{b-a}}}$

$\overline{AG}(a,b) = \overline{HA}(a,b)$
 $\overline{GG}(\dots) = \sqrt{ab}$
 $\overline{HG}(\dots) = \frac{ab}{\overline{HA}(a,b)}$
 $\overline{AH} = \overline{HG}$
 $\overline{GH} = e \left(\frac{ab}{b^a}\right)^{\frac{1}{b-a}} = \frac{ab}{\overline{GA}}$
 $\overline{HH} = \frac{rab}{a+b}$

$A = \frac{C}{\log \frac{b}{a}} \cdot \left(\frac{b}{a}\right)^{\frac{a}{b-a}} - \left(\frac{b}{a}\right)^{\frac{b}{b-a}}$

$A = a^{\frac{b}{b-a}}$

$A = \frac{C}{\log \frac{b}{a}} \cdot \left(\frac{b}{a}\right)^{\frac{a}{b-a}} \left[\frac{b}{a} - 1\right] = \frac{b-a}{\log \frac{b}{a}} \cdot \frac{b^{\frac{a}{b-a}}}{a^{\frac{b}{b-a}}}$